-1 2 a 0 -1
A matrix A=| 2 4 Db| hastwo eigenvectors @, =|1[, ¢, =| 0], where a, b, ¢ are unknown
2 1 ¢

1 2

constants. Find (1)the values of a, b, ¢, (2)the three eigenvalues A1, A2, A3, and (3)the third
eigenvectors @3. [104 14 K 2]

-1 2 allo 0 2+a
[fE]AQ, — @, =0=| 2 4 b|[l|-A|1|=0=|4+b-2, [=0
2 1 ¢l 1 1+c—2,
-1 2 al[-1 -1 1+2a+2,
AQ,-1,0,=0=| 2 4 bl 0|-A,] 0|=0=| -2+2b [|=0
2 1 cfl 2 2 -2+2c-21,
Ba=-2,b=1A, =51, =3,c=4
-1-x 2 =2
A=A |=0=| 2 4-12 1 |=0=>-A+DA-4) " +Rr+1)=0
2 1 4-x
A+DA=-3)A=5)=0=>A, =51, =3,A, =—1
0 2 -2][x -3

A=-L(A-ADe=0=|2 5 1|x |=0=¢,=| 1
2 1 5|x 1



